
Chemical Constituents Isolated from the Root Bark of Cudrania tricuspidata and Their 

Potential Neuroprotective Effects 

 

Jaeyoung Kwon,†,‡ Nguyen Tuan Hiep,† Dong-Woo Kim,§ Sungeun Hong,§ Yuanqiang Guo,⊥ 

Bang Yeon Hwang,∥ Hak Ju Lee,∇ Woongchon Mar,*, § and Dongho Lee*,†,‡ 

 

†Department of Biosystems and Biotechnology, College of Life Sciences and Biotechnology, 

and ‡Institute of Life Science and Natural Resources, Korea University, Seoul 02841, Republic 

of Korea 

§Natural Products Research Institute, College of Pharmacy, Seoul National University, Seoul 

08826, Republic of Korea 

⊥State Key Laboratory of Medicinal Chemical Biology, College of Pharmacy, and Tianjin 

Key Laboratory of Molecular Drug Research, Nankai University, Tianjin 300071, People’s 

Republic of China 

∥College of Pharmacy, Chungbuk National University, Cheongju 28644, Republic of Korea  

∇Korea Forest Research Institute, Seoul 02455, Republic of Korea 



List of Supporting Information 

S1. 1H NMR spectrum (500 MHz) of cudratrixanthone P (1) in acetone-d6. 

S2. 13C NMR spectrum (125 MHz) of cudratrixanthone P (1) in acetone-d6. 

S3. HRESIMS spectrum of cudratrixanthone P (1). 

S4. 1H NMR spectrum (500 MHz) of cudratrixanthone Q (2) in acetone-d6. 

S5. 13C NMR spectrum (125 MHz) of cudratrixanthone Q (2) in acetone-d6. 

S6. HRESIMS spectrum of cudratrixanthone Q (2). 

S7. 1H NMR spectrum (500 MHz) of 16-hydroxycudratrixanthone Q (3) in acetone-d6. 

S8. 13C NMR spectrum (125 MHz) of 16-hydroxycudratrixanthone Q (3) in acetone-d6. 

S9. HRESIMS spectrum of 16-hydroxycudratrixanthone Q (3). 

S10. 1H NMR spectrum (500 MHz) of 16-methoxycudratrixanthone M (4) in acetone-d6. 

S11. 13C NMR spectrum (125 MHz) of 16-methoxycudratrixanthone M (4) in acetone-d6. 

S12. HRESIMS spectrum of 16-methoxycudratrixanthone M (4). 

S13. 1H NMR spectrum (500 MHz) of 16-hydroxycudratrixanthone M (5) in acetone-d6. 

S14. 13C NMR spectrum (125 MHz) of 16-hydroxycudratrixanthone M (5) in acetone-d6. 

S15. HRESIMS spectrum of 16-hydroxycudratrixanthone M (5). 

S16. 1H NMR spectrum (500 MHz) of cudratrixanthone R (6) in acetone-d6. 

S17. 13C NMR spectrum (125 MHz) of cudratrixanthone R (6) in acetone-d6. 

S18. HRESIMS spectrum of cudratrixanthone R (6). 

S19. 1H NMR spectrum (500 MHz) of cudratrixanthone S (7) in acetone-d6. 

S20. 13C NMR spectrum (125 MHz) of cudratrixanthone S (7) in acetone-d6. 

S21. HRESIMS spectrum of cudratrixanthone S (7). 

S22. 1H NMR spectrum (500 MHz) of 7-O-demethylcudratrixanthone C (8) in acetone-d6. 

S23. 13C NMR spectrum (125 MHz) of 7-O-demethylcudratrixanthone C (8) in acetone-d6. 

S24. HRESIMS spectrum of 7-O-demethylcudratrixanthone C (8). 



S25. 1H NMR spectrum (500 MHz) of cudratrixanthone T (9) in acetone-d6. 

S26. 13C NMR spectrum (125 MHz) of cudratrixanthone T (9) in acetone-d6. 

S27. HRESIMS spectrum of cudratrixanthone T (9). 

S22. 1H NMR spectrum (500 MHz) of cudratrixanthone U (10) in acetone-d6. 

S23. 13C NMR spectrum (125 MHz) of cudratrixanthone U (10) in acetone-d6. 

S24. HRESIMS spectrum of cudratrixanthone U (10). 

S25. 1H NMR spectrum (500 MHz) of cudratrixanthone V (11) in acetone-d6. 

S26. 13C NMR spectrum (125 MHz) of cudratrixanthone V (11) in acetone-d6. 

S27. HRESIMS spectrum of cudratrixanthone V (11). 

S28. 1H NMR spectrum (500 MHz) of cudratrixanthone W (12) in acetone-d6. 

S29. 13C NMR spectrum (125 MHz) of cudratrixanthone W (12) in acetone-d6. 

S30. HRESIMS spectrum of cudratrixanthone W (12). 

S37. 1H NMR spectrum (500 MHz) of cudraflavanone G (13) in acetone-d6. 

S38. 13C NMR spectrum (125 MHz) of cudraflavanone G (13) in acetone-d6. 

S39. HRESIMS spectrum of cudraflavanone G (13). 

S40. 1H NMR spectrum (500 MHz) of (2R)-cudraflavanone H (14) in acetone-d6. 

S41. 13C NMR spectrum (125 MHz) of (2R)-cudraflavanone H (14) in acetone-d6. 

S42. HRESIMS spectrum of (2R)-cudraflavanone H (14). 

S43. 1H NMR spectrum (500 MHz) of (2S)-cudraflavanone H (15) in acetone-d6. 

S44. 13C NMR spectrum (125 MHz) of (2S)-cudraflavanone H (15) in acetone-d6. 

S45. HRESIMS spectrum of (2S)-cudraflavanone H (15). 

S46. 1H NMR spectrum (500 MHz) of cudraflavone G (16) in acetone-d6. 

S47. 13C NMR spectrum (125 MHz) of cudraflavone G (16) in acetone-d6. 

S48. HRESIMS spectrum of cudraflavone G (16). 

S49. 1H NMR spectrum (500 MHz) of cudraphenone E (17) in acetone-d6. 



S50. 13C NMR spectrum (125 MHz) of cudraphenone E (17) in acetone-d6. 

S51. HRESIMS spectrum of cudraphenone E (17). 

S52. 1H NMR spectrum (500 MHz) of cudrachromone A (18) in acetone-d6. 

S53. 13C NMR spectrum (125 MHz) of cudrachromone A (18) in acetone-d6. 

S54. HRESIMS spectrum of cudrachromone A (18). 

S55. 1H NMR spectrum (500 MHz) of cudraphenol A (19) in acetone-d6. 

S56. 13C NMR spectrum (125 MHz) of cudraphenol A (19) in acetone-d6. 

S57. HRESIMS spectrum of cudraphenol A (19). 

S58. 1H NMR spectrum (500 MHz) of cudraphenol B (20) in acetone-d6. 

S59. 13C NMR spectrum (125 MHz) of cudraphenol B (20) in acetone-d6. 

S60. HRESIMS spectrum of cudraphenol B (20). 

S64. 1H NMR spectrum (500 MHz) of cudraphenol C (21) in acetone-d6. 

S65. 13C NMR spectrum (125 MHz) of cudraphenol C (21) in acetone-d6. 

S66. HRESIMS spectrum of cudraphenol C (21). 

S67. Calculated and Experimental ECD Spectra of Compounds 13–15 (A–C). 

S67. Structures of compounds 22–37. 

S68. 1H NMR data of 54 known compounds.



S1. 1H NMR spectrum (500 MHz) of cudratrixanthone P (1) in acetone-d6. 

 



S2. 13C NMR spectrum (125 MHz) of cudratrixanthone P (1) in acetone-d6. 

 



S3. HRESIMS spectrum of cudratrixanthone P (1). 

 



S4. 1H NMR spectrum (500 MHz) of cudratrixanthone Q (2) in acetone-d6. 

 



S5. 13C NMR spectrum (125 MHz) of cudratrixanthone Q (2) in acetone-d6. 

 



S6. HRESIMS spectrum of cudratrixanthone Q (2). 

 



S7. 1H NMR spectrum (500 MHz) of 16-hydroxycudratrixanthone Q (3) in acetone-d6. 

 



S8. 13C NMR spectrum (125 MHz) of 16-hydroxycudratrixanthone Q (3) in acetone-d6. 

 



S9. HRESIMS spectrum of 16-hydroxycudratrixanthone Q (3). 

 



S10. 1H NMR spectrum (500 MHz) of 16-methoxycudratrixanthone M (4) in acetone-d6. 

 



S11. 13C NMR spectrum (125 MHz) of 16-methoxycudratrixanthone M (4) in acetone-d6. 

 



S12. HRESIMS spectrum of 16-methoxycudratrixanthone M (4). 

 



S13. 1H NMR spectrum (500 MHz) of 16-hydroxycudratrixanthone M (5) in acetone-d6. 

 



S14. 13C NMR spectrum (125 MHz) of 16-hydroxycudratrixanthone M (5) in acetone-d6. 

 



S15. HRESIMS spectrum of 16-hydroxycudratrixanthone M (5). 

 

  



S16. 1H NMR spectrum (500 MHz) of cudratrixanthone R (6) in acetone-d6. 

 



S17. 13C NMR spectrum (125 MHz) of cudratrixanthone R (6) in acetone-d6. 

 



S18. HRESIMS spectrum of cudratrixanthone R (6). 

 



S19. 1H NMR spectrum (500 MHz) of cudratrixanthone S (7) in acetone-d6. 

 



S20. 13C NMR spectrum (125 MHz) of cudratrixanthone S (7) in acetone-d6. 

 



S21. HRESIMS spectrum of cudratrixanthone S (7). 

 



S22. 1H NMR spectrum (500 MHz) of 7-O-demethylcudratrixanthone C (8) in acetone-d6. 

 



S23. 13C NMR spectrum (125 MHz) of 7-O-demethylcudratrixanthone C (8) in acetone-d6. 

 



S24. HRESIMS spectrum of 7-O-demethylcudratrixanthone C (8). 

 



S25. 1H NMR spectrum (500 MHz) of cudratrixanthone T (9) in acetone-d6. 

 



S26. 13C NMR spectrum (125 MHz) of cudratrixanthone T (9) in acetone-d6. 

 



S27. HRESIMS spectrum of cudratrixanthone T (9). 

 



S28. 1H NMR spectrum (500 MHz) of cudratrixanthone U (10) in acetone-d6. 

 



S29. 13C NMR spectrum (125 MHz) of cudratrixanthone U (10) in acetone-d6. 

 



S30. HRESIMS spectrum of cudratrixanthone U (10). 

 



S31. 1H NMR spectrum (500 MHz) of cudratrixanthone V (11) in acetone-d6. 

 



S32. 13C NMR spectrum (125 MHz) of cudratrixanthone V (11) in acetone-d6. 

 



S33. HRESIMS spectrum of cudratrixanthone V (11). 

 



S34. 1H NMR spectrum (500 MHz) of cudratrixanthone W (12) in acetone-d6. 

 



S35. 13C NMR spectrum (125 MHz) of cudratrixanthone W (12) in acetone-d6. 

 



S36. HRESIMS spectrum of cudratrixanthone W (12). 

 



S37. 1H NMR spectrum (500 MHz) of cudraflavanone G (13) in acetone-d6. 

 



S38. 13C NMR spectrum (125 MHz) of cudraflavanone G (13) in acetone-d6. 

 



S39. HRESIMS spectrum of cudraflavanone G (13). 

 



S40. 1H NMR spectrum (500 MHz) of (2R)-cudraflavanone H (14) in acetone-d6. 

 



S41. 13C NMR spectrum (125 MHz) of (2R)-cudraflavanone H (14) in acetone-d6. 

 



S42. HRESIMS spectrum of (2R)-cudraflavanone H (14). 

 



S43. 1H NMR spectrum (500 MHz) of (2S)-cudraflavanone H (15) in acetone-d6. 

 



S44. 13C NMR spectrum (125 MHz) of (2S)-cudraflavanone H (15) in acetone-d6. 

 



S45. HRESIMS spectrum of (2S)-cudraflavanone H (15). 

 



S46. 1H NMR spectrum (500 MHz) of cudraflavone G (16) in acetone-d6. 

 



S47. 13C NMR spectrum (125 MHz) of cudraflavone G (16) in acetone-d6. 

 



S48. HRESIMS spectrum of cudraflavone G (16). 

 



S49. 1H NMR spectrum (500 MHz) of cudraphenone E (17) in acetone-d6. 

 



S50. 13C NMR spectrum (125 MHz) of cudraphenone E (17) in acetone-d6. 

 



S51. HRESIMS spectrum of cudraphenone E (17). 

 



S52. 1H NMR spectrum (500 MHz) of cudrachromone A (18) in acetone-d6. 

 



S53. 13C NMR spectrum (125 MHz) of cudrachromone A (18) in acetone-d6. 

 



S54. HRESIMS spectrum of cudrachromone A (18). 

 



S55. 1H NMR spectrum (500 MHz) of cudraphenol A (19) in acetone-d6. 

 



S56. 13C NMR spectrum (125 MHz) of cudraphenol A (19) in acetone-d6. 

 



S57. HRESIMS spectrum of cudraphenol A (19). 

 



S58. 1H NMR spectrum (500 MHz) of cudraphenol B (20) in acetone-d6. 

 



S59. 13C NMR spectrum (125 MHz) of cudraphenol B (20) in acetone-d6. 

 



S60. HRESIMS spectrum of cudraphenol B (20). 

 



S61. 1H NMR spectrum (500 MHz) of cudraphenol C (21) in acetone-d6. 

 



S62. 13C NMR spectrum (125 MHz) of cudraphenol C (21) in acetone-d6. 

 



S63. HRESIMS spectrum of cudraphenol C (21). 

 



S67. Calculated and Experimental ECD Spectra of Compounds 13–15 (A–C). 

 



S68. Structures of compounds 22–37. 

  



S69. 1H NMR data of 53 known compounds. 

Dicycloeuchrestaflavanone B (22): 1H NMR (acetone-d6, 500MHz) δH 12.54 (1H, s, OH-

5), 7.19 (1H, s, H-6′), 6.58 (1H, d, J = 10.0 Hz, H-1′′′), 6.39 (1H, s, H-3′), 6.36 (1H, d, J = 10.0 

Hz, H-1′′), 5.91 (1H, s, H-8), 5.77 (1H, d, J = 10.0 Hz, H-2′′), 5.72 (1H, dd, J = 13.5, 2.5 Hz, 

H-2), 5.63 (1H, d, J = 10.0 Hz, H-2′′′), 3.20 (1H, dd, J = 17.5 , 13.0 Hz, H-2a), 2.81 (1H, dd, J 

= 17.5, 3.0 Hz, H-2b), 1.44 (6H, s, Me-4′′′, Me-5′′′), 1.39 (6H, s, Me-4′′, Me-5′′). 

Cudraflavone A (23): 1H NMR (CDCl3, 500 MHz) δH 13.03 (1H, s, H-5), 7.63 (1H, d, J = 

8.5 Hz, H-6′), 6.70 (1H, d, J = 10.0 Hz, H-1′′′), 6.54 (1H, dd, J = 8.5, 2.0 Hz, H-5′), 6.42 (1H, 

d, J = 2.0 Hz, H-3′), 6.37 (1H, s, H-8), 6.24 (1H, d, J = 9.0 Hz, H-1′′), 5.59 (1H, d, J = 10.0 Hz, 

H-2′′′), 5.42 (1H, d, J = 9.5 Hz, H-2′′), 1.97 (3H, s, Me-4′′), 1.70 (3H, s, Me-5′′), 1.46 (6H, s, 

Me-4′′′, Me-5′′′). 

5,7-Dihydroxychromone (24): 1H NMR (DMSO-d6, 500MHz) δH 12.70 (1H, s, OH-5), 8.18 

(1H, d, J = 6.0 Hz, H-2), 6.37 (1H, d, J = 2.0 Hz, H-6), 6.28 (1H, d, J = 6.0 Hz, H-3), 6.21 (1H, 

d, J = 2.0 Hz, H-6). 

Isoimperatorin (25): 1H NMR (CDCl3, 500 MHz) δH 8.15 (1H, d, J = 9.5 Hz, H-4), 7.57 

(1H, d, J = 2.0 Hz, H-2′), 7.16 (1H, s, H-8), 6.95 (1H, d, J = 2.0 Hz, H-1′), 6.27 (1H, d, J = 9.5 

Hz, H-3), 5.53 (1H, t, J = 7.0 Hz, H-2′′), 4.92 (1H, d, J = 7.0 Hz, H-1′′), 1.80 (3H, s, Me-4′′) 

1.70 (3H, s, Me-6′). 

Xanthyletin (26): 1H NMR (CDCl3, 500 MHz) δH 7.59 (1H, d, J = 9.5 Hz, H-4), 7.06 (1H, 

s, H-5), 6.72 (1H, s, H-9), 6.23 (1H, d, J = 9.5 Hz, H-3), 6.34 (1H, d, J = 10.0 Hz, H-1′), 5.69 

(1H, d, J = 10.0 Hz, H-2′), 1.43 (6H, s, Me-5′, Me-6′). 

4-Hydroxybenzaldehyde (27): 1H NMR (acetone-d6, 500MHz) δH 9.86 (1H, s, H-7), 7.80 

(2H, d, J = 8.5 Hz, H-2, H-6), 7.02 (2H, d, J = 8.5 Hz, H-3, H-5). 

Glutinol (28): 1H NMR (CDCl3, 500 MHz) δH 5.63 (1H, d, J = 6.0 Hz, H-6), 3.47 (1H, m, 

H-3), 1.16 (3H, s, Me-28), 1.14 (3H, s, Me-24), 1.10 (3H, s, Me-26), 1.04 (3H, s, Me-23), 1.01 



(3H, s, Me-27), 0.99 (3H, s, Me-30), 0.95 (1H, s, Me-29), 0.85 (1H, s, Me-25). 

Achilleol A (29): 1H NMR (CDCl3, 500 MHz) δH 5.12 (4H, m, H-10, 13, 17, 21), 4.87 (1H, 

s, H-27a), 4.61 (1H, s, H-27b), 3.47 (1H, m, H-3), 2.33 (1H, m, H-5), 2.03 (16H, m, H-1, 8, 11, 

12, 15, 16, 19, 20), 1.65 (4H, m, H-2, H-7), 1.68 (3H, s, Me-23), 1.60 (12H, s, Me-24, 28, 29, 

30), 1.03 (3H, s, Me-25), 0.72 (3H, s, Me-26). 

Oleic acid (30): 1H NMR (CDCl3, 500 MHz) δH 5.35 (2H, m, H-9, H-10), 3.66 (3H, s, 

OMe-1), 2.30 (2H, m, H-2), 2.05 (4H, m, H-8, H-11), 1.60 (2H, m, H-3), 1.26 (20H, m, H-4, 

H-5, H-6, H-7, H-12, H-13, H-14, H-15, H-16, H-17), 0.88 (3H, t, J = 6.5 Hz, Me-18). 

Demethylsuberosin (31): 1H NMR (CDCl3, 500 MHz) δH 7.65 (1H, d, J = 9.5 Hz, H-4), 

7.20 (1H, s, H-5), 6.82 (1H, s, H-8), 6.24 (1H, d, J = 9.5 Hz, H-3), 5.32 (1H, t, J = 7.5 Hz, H-

2′′), 3.39 (1H, d, J = 7.5 Hz, H-1′′), 1.84 (3H, s, Me-4′′) 1.80 (3H, s, Me-6′). 

5-Dehydroxybavachinone A (32): 1H NMR (acetone-d6, 500MHz) δH 12.44 (1H, s, OH-5), 

7.41 (2H, d, J = 8.5 Hz, H-2′, H-6′), 6.91 (2H, d, J = 8.5 Hz, H-3′, H-5′), 5.88 (1H, s, H-8), 

5.45 (1H, dd, J = 13.0, 3.0 Hz, H-2), 4.75 (1H, dd, J = 9.5, 7.5 Hz, H-2′′), 3.19 (1H, dd, J = 

17.0, 13.0, H-3a), 3.05 (2H, m, H-1′′), 2.77 (1H, dd, J = 17.0, 3.0 Hz, H-3b), 1.26 (3H, s, Me-

4′′), 1.20 (3H, s, Me-5′′). 

Imperatorin (33): 1H NMR (CDCl3, 500 MHz) δH 7.78 (1H, d, J = 9.5 Hz, H-4), 7.69 (1H, 

d, J = 2.0 Hz, H-2′), 7.37 (1H, s, H-5), 6.82 (1H, d, J = 2.0 Hz, H-1′), 6.38 (1H, d, J = 9.5 Hz, 

H-3), 5.61 (1H, t, J = 7.0 Hz, H-2′′), 5.01 (1H, d, J = 7.0 Hz, H-1′′), 1.75 (3H, s, Me-4′′) 1.72 

(3H, s, Me-6′). 

Isoencecalin (34): 1H NMR (CDCl3, 500 MHz) δH 7.58 (1H, d, J = 9.0 Hz, H-1′), 6.61 (2H, 

m, H-5, H-6), 5.68 (1H, d, J = 9.5 Hz, H-2′), 3.81 (3H, s, OMe-2), 2.61 (3H, s, Me-8), 1.46 

(6H, s, Me-4′, Me-5′). 

2,4-Dihydroxymethylbenzoate (35): 1H NMR (CDCl3, 500 MHz) δH 10.94 (1H, s, OH-1), 

7.33 (1H, d, J = 9.0 Hz, H-6), 6.40 (1H, d, J = 2.5 Hz, H-3), 6.36 (1H, dd, J = 9.0, 2.5 Hz, H-



5), 3.91 (3H, s, OMe-7). 

4-(Methoxymethyl)phenol (36): 1H NMR (acetone-d6, 500MHz) δH 7.16 (2H, d, J = 8.5 Hz, 

H-2, H-6), 6.80 (2H, d, J = 9.0 Hz, H-3, H-5), 4.31 (2H, s, H-7), 3.27 (3H, s, OMe-7). 

α-Amyrin (37): 1H NMR (CDCl3, 500 MHz) δH 5.13 (1H, t, J = 3.0 Hz, H-12), 3.46 (1H, 

m, H-3), 1.26 (3H, s, Me-23), 1.15 (3H, s, Me-27), 1.07 (3H, s, Me-24), 1.04 (3H, s, Me-26), 

0.97 (3H, s, Me-25), 0.95 (3H, d, J = 4.0, Me-30), 0.91 (3H, d, J = 4.0, Me-29), 0.89 (3H, s, 

Me-28). 

Gentisein: 1H NMR (acetone-d6, 500MHz) δH 12.97 (1H, s, OH-1), 7.58 (1H, d, J = 2.5 Hz, 

H-8), 7.43 (1H, d, J = 9.0 Hz, H-5), 7.36 (1H, dd, J = 8.5, 2.5 Hz, H-6), 6.43 (1H, s, H-4), 6.27 

(1H, s, H-2). 

Toxyloxanthone B: 1H NMR (acetone-d6, 500MHz) δH 13.37 (1H, s, OH-1), 8.04 (1H, d, J 

= 10.0 Hz, H-11), 6.83 (1H, s, H-5), 6.35 (1H, d, J = 2.5 Hz, H-4), 6.21 (1H, d, J = 2.0 Hz, H-

2), 5.93 (1H, d, J = 10.0 Hz, H-12). 

2-Deprenylrheediaxanthone B: 1H NMR (acetone-d6, 500MHz) δH 13.43 (1H, s, OH-1), 

7.63 (1H, d, J = 8.5 Hz, H-7), 7.00 (1H, d, J = 8.5 Hz, H-8), 6.15 (1H, s, H-2), 4.58 (1H, q, J = 

6.5 Hz, H-14), 1.64 (3H, s, Me-12), 1.41 (3H, d, J = 6.5 Hz, Me-15), 1.35 (3H, s, Me-13). 

4′-O-Demethylcrotaramin: 1H NMR (CDCl3, 500 MHz) δH 7.51 (1H, d, J = 8.5 Hz, H-9), 

7.10 (2H, d, J = 8.0 Hz, H-2′, H-6′), 6.76 (2H, d, J = 8.0 Hz, H-3′, H-5′), 6.71 (1H, d, J = 10.0 

Hz, H-1′′), 6.30 (1H, d, J = 8.5 Hz, H-8), 5.58 (1H, d, J = 10.0 Hz, H-2′), 3.17 (2H, t, J = 8.5 

Hz, H-3), 2.97 (2H, t, J = 8.5 Hz, H-2), 1.47 (6H, s, Me-4′′, Me-5′′). 

Brosimine B: 1H NMR (CDCl3, 500 MHz) δH 7.29 (2H, d, J = 8.5 Hz, H-2′, H-6′), 6.83 (2H, 

d, J = 8.5 Hz, H-3′, H-5′), 6.82 (1H, d, J = 8.5 Hz, H-5), 6.41 (1H, d, J = 8.5 Hz, H-6), 5.26 

(1H, t, J = 7.0 Hz, H-2′′), 4.97 (1H, d, J = 10.5, 2.0 Hz, H-2), 3.41 (1H, d, J = 7.0 Hz, H-1′′), 

2.92 (1H, m, H-4a), 2.72 (1H, m, H-4b), 2.16 (1H, m, H-3a), 1.98 (1H, m, H-3b), 1.75 (3H, s, 

Me-4′′), 1.72 (3H, s, Me-5′′). 



Pinocembrin: 1H NMR (acetone-d6, 500MHz) δH 7.50 (5H, m, H-2′, H-3′, H-4′, H-5′, H-

6′), 6.04 (1H, d, J = 2.0 Hz, H-8), 5.97 (1H, d, J = 2.0 Hz, H-6), 5.57 (1H, dd, J = 13.0, 3.0 Hz, 

H-2), 3.16 (1H, dd, J = 17.0, 13.0 Hz, H-3a), 2.80 (1H, dd, J = 17.0, 3.0 Hz, H-3b). 

Euchrestaflavanone C: 1H NMR (acetone-d6, 500MHz) δH 12.49 (1H, s, OH-5), 7.19 (1H, 

s, H-6′), 6.37 (1H, d, J = 10.0 Hz, H-1′′′), 6.38 (1H, s, H-3′), 6.06 (1H, s, H-8), 5.57 (1H, d, J 

= 10.0 Hz, H-2′′′), 5.68 (1H, dd, J = 13.5, 3.0 Hz, H-2), 5.24 (1H, t, J = 7.5 Hz, H-2′′), 3.26 

(2H, d, J = 7.5 Hz, H-1′′), 3.15 (1H, dd, J = 17.5 , 13.0 Hz, H-2a), 2.73 (1H, dd, J = 17.5, 3.0 

Hz, H-2b), 1.76 (3H, s, Me-4′′), 1.64 (3H, s, Me-5′′) 1.40 (6H, s, Me-4′′′, Me-5′′). 

4′-Hydroxyisolonchocarpin: 1H NMR (CDCl3, 500 MHz) δH 7.74 (1H, d, J = 8.0 Hz, H-5), 

7.39 (2H, d, J = 8.5 Hz, H-2′, H-6′), 6.90 (2H, d, J = 8.5 Hz, H-3′, H-5′), 6.63 (1H, d, J = 10.0 

Hz, H-1′′) 6.49 (1H, d, J = 8.0 Hz, H-6), 5.57 (1H, d, J = 10.0 Hz, H-2′′), 5.41 (1H, dd, J = 

13.0, 3.0 Hz, H-2), 3.01 (1H, dd, J = 16.5, 13.5 Hz, H-3a), 2.81 (1H, dd, J = 16.5, 3.0, H-3b), 

1.47 (3H, s, Me-4′′), 1.44 (3H, s, Me-5′′). 

Naringenin: 1H NMR (acetone-d6, 500MHz) δH 12.17 (1H, s, OH-5), 7.39 (2H, d, J = 8.5 

Hz, H-2′, H-6′), 6.90 (2H, d, J = 8.5 Hz, H-3′, H-5′), 5.96 (1H, d, J = 2.0 Hz, H-6), 5.95 (1H, 

d, J = 2.0 Hz, H-8), 5.45 (1H, dd, J = 12.5, 3.0 Hz, H-2), 3.18 (1H, dd, J = 17.0, 13.0, H-3a), 

2.73 (1H, dd, J = 17.0, 3.0 Hz, H-3b). 

6-Prenylnarigenin: 1H NMR (acetone-d6, 500MHz) δH 12.46 (1H, s, OH-5), 7.38 (2H, d, J 

= 8.5 Hz, H-2′, H-6′), 6.89 (2H, d, J = 8.5 Hz, H-3′, H-5′), 6.45 (1H, s, H-8), 5.42 (1H, dd, J 

= 13.0, 3.0 Hz, H-2), 5.23 (1H, t, J = 6.5 Hz, H-1′′), 3.25 (1H, d, J = 6.5 Hz, H-2′′), 3.15 (1H, 

dd, J = 17.0, 13.0, H-3a), 2.73 (1H, dd, J = 17.0, 3.0 Hz, H-3b), 1.75 (3H, s, Me-4′′), 1.64 (3H, 

s, Me-5′′). 

Tomentosanol D: 1H NMR (acetone-d6, 500MHz) δH 12.16 (1H, s, OH-5), 7.41 (2H, d, J = 

8.5 Hz, H-2′, H-6′), 6.91 (2H, d, J = 8.5 Hz, H-3′, H-5′), 5.99 (1H, s, H-6), 5.41 (1H, dd, J = 

13.0, 2.5 Hz, H-2), 4.80 (1H, s, H-4′′a), 4.70 (1H, s, H-4′′b), 4.33 (1H, dd, J = 7.5, 4.5 Hz, H-



2′′), 3.11 (1H, dd, J = 17.0, 13.0, H-3a), 2.91 (1H, dd, J = 14.5, 4.5 Hz, H-1′′a), 2.79 (1H, dd, 

J = 14.5, 7.0 Hz, H-1′′b), 2.75 (1H, dd, J = 17.0, 3.0 Hz, H-3b), 1.67 (3H, s, Me-5′′). 

Dalenin: 1H NMR (Acetone-d6, 500 MHz) δH 12.55 (1H, s, OH-5), 7.31 (1H, d, J = 8.0 Hz, 

H-6′), 6.58 (1H, d, J = 10.5 Hz, H-1′′), 6.49 (1H, d, J = 2.0 Hz, H-3′), 6.42 (1H, dd, J = 8.0, 2.0 

Hz, H-5′), 5.90 (1H, s, H-8), 5.72 (1H, dd, J = 13.0, 3.0 Hz, H-2), 5.62 (1H, d, J = 10.0 Hz, H-

2′′), 3.22 (1H, dd, J = 17.0, 13.5 Hz, H-3a), 2.75 (1H, dd, J = 17.0, 2.5 Hz, H-3b), 1.40 (6H, s, 

Me-4′′, Me-5′′). 

Parvisoflavone A: 1H NMR (acetone-d6, 500MHz) δH 12.48 (1H, s, OH-5), 8.01 (1H, s, H-

2), 7.04 (1H, d, J = 8.0 Hz, H-6′), 6.78 (1H, d, J = 10.0 Hz, H-1′′), 6.53 (1H, d, J = 2.0 Hz, H-

3′), 6.40 (1H, d, J = 8.5 Hz, H-5′), 6.37 (1H, s, H-8), 5.70 (1H, d, J = 10.0 Hz, H-2′′), 1.43 (6H, 

s, Me-4′′, 5′′). 

Alpinumisoflavone: 1H NMR (CDCl3, 500 MHz) δH 13.43 (1H, s, OH-5), 8.18 (1H, s, H-

2), 7.46 (2H, d, J = 8.5 Hz, H-2′, 6′), 6.91 (2H, d, J = 8.5 Hz, H-3′, 5′), 6.68 (1H, d, J = 10.0 

Hz, H-1′′), 6.19 (1H, s, H-8), 5.77 (1H, d, J = 10.0 Hz, H-2′′), 1.47 (6H, s, Me-4′′, 5′′). 

8-Hydroxygenistein: 1H NMR (acetone-d6, 500MHz) δH 8.10 (1H, s, H-2), 7.45 (2H, d, J = 

8.0 Hz, H-2′, H-6′), 6.89 (2H, d, J = 8.0 Hz, H-3′, H-5′), 6.39 (1H, s, H-6). 

Laburnetin: 1H NMR (acetone-d6, 500MHz) δH 13.49 (1H, s, OH-5), 8.08 (1H, s, H-2), 

7.43 (2H, d, J = 8.5 Hz, H-2′, H-6′), 6.89 (2H, d, J = 8.5 Hz, H-3′, H-5′), 6.41 (1H, s, H-8), 

4.94 (1H, s, H-4′′a), 4.77 (1H, s, H-4′′b), 4.43 (1H, dd, J = 8.0, 7.5 Hz, H-2′′), 3.07 (1H, dd, J 

= 14.5, 8.5 Hz, H-1′′a), 2.92 (1H, dd, J = 14.5, 7.5 Hz, H-1′′b), 1.83 (3H, s, Me-5′′). 

Biochanin A: 1H NMR (acetone-d6, 500MHz) δH 12.99 (1H, s, OH-5), 8.22 (1H, s, H-2), 

7.47 (2H, d, J = 8.5 Hz, H-2′, H-6′), 6.92 (2H, d, J = 8.5 Hz, H-3′, H-5′), 6.55 (1H, s, H-6), 

6.36 (1H, s, H-8), 3.93 (3H, s, OMe-4′). 

Erythrinin B: 1H NMR (acetone-d6, 500MHz) δH 13.30 (1H, s, OH-5), 8.04 (1H, s, H-2), 

7.43 (2H, d, J = 8.5 Hz, H-2′, H-6′), 6.90 (2H, d, J = 8.5 Hz, H-3′, H-5′), 6.45 (1H, s, H-8), 



5.28 (1H, t, J = 7.0 Hz, H-1′′), 3.36 (2H, d, J = 7.0 Hz, H-2′′), 1.78 (1H, s, Me-4′′), 1.65 (1H, 

s, Me-5′′). 

Erythrinin C: 1H NMR (acetone-d6, 500MHz) δH 13.24 (1H, s, OH-5), 8.17 (1H, s, H-2), 

7.45 (2H, d, J = 8.0 Hz, H-2′, H-6′), 6.99 (2H, d, J = 8.0 Hz, H-3′, H-5′), 6.38 (1H, s, H-8), 

4.85 (1H, t, J = 8.5 Hz, H-2′′), 3.17 (2H, m, H-1′′), 1.29 (3H, s, Me-4′′), 1.25 (3H, s, Me-5′′). 

Erythrinin G: 1H NMR (DMSO-d6, 500MHz) δH 7.99 (1H, s, H-2), 7.27 (2H, d, J = 8.5 Hz, 

H-2′, H-6′), 6.77 (2H, d, J = 9.0 Hz, H-3′, H-5′), 6.39 (1H, s, H-8), 5.12 (1H, d, J = 5.0 Hz, 

OH-2′′), 3.63 (1H, ddd, J = 7.5, 5.5, 5.0 Hz, H-2′′), 2.76 (1H, dd, J = 17.0, 5.5 Hz, H-1′′a), 2.40 

(1H, dd, J = 17.0, 7.5 Hz, H-1′′b), 1.30 (3H, s, Me-4′′), 1.18 (3H, s, Me-5′′). 

Cudracuspiphenone A: 1H NMR (acetone-d6, 500 MHz) δH 12.24 (1H, s, OH-2), 7.38 (1H, 

t, J = 8.0 Hz, H-17), 7.14 (1H, d, J = 2.5 Hz, H-14), 7.13 (1H, d, J = 8.0 Hz, H-18), 7.11 (1H, 

d, J = 8.0 Hz, H-16), 7.02 (1H, s, H-6), 5.20 (1H, t, J = 7.5 Hz, H-8), 4.00 (3H, s, OMe-4), 3.22 

(2H, d, J = 7.5 Hz, H-7), 1.67 (3H, s, Me-10), 1.65 (3H, s, Me-11). 

Eriosematin A: 1H NMR (CDCl3, 500 MHz) δH 12.96 (1H, s, OH-5), 7.71 (1H, d, J = 6.0 

Hz, H-2), 6.38 (1H, s, H-6), 6.21 (1H, d, J = 6.0 Hz, H-3), 5.27 (1H, t, J = 7.0 Hz, H-12), 3.45 

(2H, d, J = 7.5 Hz, H-11), 1.84 (3H, s, Me-14), 1.77 (3H, s, Me-15). 

Decursinol angelate: 1H NMR (CDCl3, 500 MHz) δH 7.57 (1H, d, J = 9.5 Hz, H-4), 7.15 

(1H, s, H-5), 6.79 (1H, s, H-8), 6.22 (1H, d, J = 9.5 Hz, H-3), 6.10 (1H, q, J = 7.0 Hz, H-3′′), 

5.13 (1H, t, J = 5.0 Hz, H-2′), 3.22 (1H, dd, J = 17.0, 5.0 Hz, H-6′a), 2.89 (1H, dd, J = 17.0, 

5.0 Hz, H-6′b), 1.84 (3H, s, Me-4′′) 1.83 (3H, d, J = 7.5 Hz, Me-5′′), 1.40 (3H, s, Me-4′), 1.39 

(3H, s, Me-5′). 

cis-3′.4′-Diisovalerylkhellactone: 1H NMR (CDCl3, 500 MHz) δH 7.59 (1H, d, J = 10.0 Hz, 

H-4), 7.36 (1H, d, J = 8.5 Hz, H-5), 6.79 (1H, d, J = 8.5 Hz, H-6), 6.55 (1H, d, J = 5.0 Hz, H-

1′), 6.23 (1H, d, J = 10.0 Hz, H-3), 5.33 (1H, d, J = 5.0 Hz, H-2′), 2.23 (2H, m, H-2′′, H-7′′), 

2.10 (2H, m, H-3′′, H-8′′), 0.98 (12H, s, Me-4′′, Me-5′′, Me-9′′, Me-10′′), 1.45 (3H, s, Me-4′), 



1.42 (3H, s, Me-5′). 

7-Hydroxycoumarin: 1H NMR (acetone-d6, 500MHz) δH 7.85 (1H, d, J = 9.5 Hz, H-4), 7.51 

(1H, d, J = 8.5 Hz, H-5), 6.84 (1H, dd, J = 8.5, 1.5 Hz, H-6), 6.75 (1H, d, J = 1.5 Hz, H-8), 

6.16 (1H, d, J = 9.5 Hz, H-3). 

8-Methoxypsoralene: 1H NMR (acetone-d6, 500MHz) δH 8.04 (1H, d, J = 9.5 Hz, H-4), 

7.96 (1H, d, J = 2.0 Hz, H-2′), 7.62 (1H, s, H-5), 7.02 (1H, d, J = 2.0 Hz, H-1′), 6.36 (1H, d, J 

= 9.5 Hz, H-3), 4.24 (3H, s, OMe-8). 

Bergapten: 1H NMR (acetone-d6, 500MHz) δH 8.17 (1H, d, J = 9.5 Hz, H-4), 7.60 (1H, d, 

J = 2.5 Hz, H-2′), 7.15 (1H, s, H-8), 7.03 (1H, d, J = 2.5 Hz, H-1′), 6.29 (1H, d, J = 9.5 Hz, H-

3), 4.24 (3H, s, OMe-5). 

Hyuganin C: 1H NMR (CDCl3, 500 MHz) δH 7.60 (1H, d, J = 9.5 Hz, H-4), 7.37 (1H, d, J 

= 8.5 Hz, H-5), 6.80 (1H, d, J = 8.5 Hz, H-6), 6.53 (1H, d, J = 5.0 Hz, H-1′), 6.23 (1H, d, J = 

9.5 Hz, H-3), 5.31 (1H, d, J = 5.0 Hz, H-2′), 2.10 (3H, s, Me-7′′), 2.42 (1H, m, H-2′′), 1.73 (1H, 

m, H-3′′a), 1.49 (1H, m, H-3′′b), 1.22 (3H, d, J = 7.0 Hz, H-5′′), 0.95 (3H, t, J = 7.5 Hz, Me-

4′′), 1.45 (3H, s, Me-4′), 1.43 (3H, s, Me-5′). 

2,4-Bis(4-hydroxybenzyl)phenol: 1H NMR (acetone-d6, 500MHz) 1H NMR (CD3COCD3, 

500MHz) δH 7.06 (2H, d, J = 8.5 Hz, H-9, H-13), 6.98 (2H, d, J = 8.5 Hz, H-16, H-20), 6.93 

(1H, d, J = 2.0 Hz, H-2), 6.83 (1H, dd, J = 8.0, 2.0 Hz, H-6), 6.74 (1H, d, J = 8.0 Hz, H-5), 

6.72 (2H, d, J = 8.5 Hz, H-10, H-12), 6.71 (2H, d, J = 8.5 Hz, H-17, H-19), 3.83 (2H, s, H-7), 

3.73 (2H, s, H-14). 

4-Hydroxymethylbenzoate: 1H NMR (CDCl3, 500 MHz) δH 7.95 (2H, d, J = 9.0 Hz, H-2, 

H-6), 6.86 (2H, d, J = 8.5 Hz, H-3, H-5), 3.88 (3H, s, OMe-7). 

Vanillin: 1H NMR (acetone-d6, 500MHz) δH 9.86 (1H, s, H-7), 7.46 (1H, d, J = 8.0 Hz, H-

6), 7.02 (1H, dd, J = 8.0, 2.0 Hz, H-5), 7.45 (1H, d, J = 2.0 Hz, H-2), 3.94 (3H, s, OMe-3). 

3-Methoxycarbonylindole: 1H NMR (CDCl3, 500 MHz) δH 8.61 (1H, s, NH-1), 8.20 (1H, 



m, H-4), 7.93 (1H, d, J = 3.0 Hz, H-2), 7.43 (1H, m, H-7), 7.28 (2H, m, H-5, H-6), 3.93 (3H, 

s, OMe-10). 

4-Hydroxybenzalacetone: 1H NMR (CDCl3, 500MHz) δH 7.48 (1H, d, J = 16.0 Hz, H-4), 

7.46 (1H, d, J = 8.5 Hz, H-6), 6.87 (1H, d, J = 8.5 Hz, H-7), 6.60 (1H, d, J = 16.5 Hz, H-3), 

2.37 (3H, s, Me-1). 

Lanosterol: 1H NMR (CDCl3, 500 MHz) δH 5.10 (1H, t, J = 6.5 Hz, H-24), 3.25 (1H, dd, J 

= 11.5, 4.5 Hz, H-3), 1.68 (3H, s, Me-26), 1.61 (3H, s, Me-27), 1.43 (1H, m, H-17), 1.42 (1H, 

m, H-20), 1.01 (1H, m, H-5), 0.97 (6H, s, Me-19, Me-28), 0.86 (3H, s, Me-30), 0.85 (3H, d, J 

= 6.5 Hz, Me-21), 0.80 (3H, s, Me-29), 0.74 (3H, s, Me-18). 

γ-Hexadecanolactone: 1H NMR (CDCl3, 500 MHz) δH 5.35 (4H, m, H-9, H-10, H-12, H-

13), 2.76 (2H, m, H-11), 2.35 (2H, m, H-2), 2.05 (4H, m, H-8, H-14), 1.65 (2H, m, H-3), 1.25 

(14H, m, H-4, H-5, H-6, H-7, H-15, H-16, H-17), 0.88 (3H, t, J = 6.5 Hz, Me-18). 

Hexadecanoic acid: 1H NMR (CDCl3, 500 MHz) δH 5.35 (4H, m, H-9, H-10, H-12, H-13), 

2.76 (2H, m, H-11), 2.35 (2H, m, H-2), 2.05 (4H, m, H-8, H-14), 1.65 (2H, m, H-3), 1.25 (14H, 

m, H-4, H-5, H-6, H-7, H-15, H-16, H-17), 0.88 (3H, t, J = 6.5 Hz, Me-18). 

9,12-Octadecadienoic acid: 1H NMR (CDCl3, 500 MHz) δH 5.35 (4H, m, H-9, H-10, H-12, 

H-13), 2.76 (2H, m, H-11), 2.35 (2H, m, H-2), 2.05 (4H, m, H-8, H-14), 1.65 (2H, m, H-3), 

1.33 (14H, m, H-4, H-5, H-6, H-7, H-15, H-16, H-17), 0.88 (3H, t, J = 6.5 Hz, Me-18) 


